PART I

For each of the words in Capital letters, choose from among the answers, the word that is closest in meaning:

1. PITHY

(A) ridiculous (B) indecent  (C
concise
  (D)  determined  (E) credence

2. ISOTROPIC

(A) feeling cold  (B)being isolated  (C)showing warmth (D)
having uniformity (E)  creating wealth


3. AEGIS

(A) protection  (B)dramatic poem   (C) channel (D)framework (E) creation

4. DOCILE

(A) peaceful (B)submissive (C)amorous  (D) ineffectual (E) probability

5. VERACITY

(A) speed  (B)beauty (C) truthfulness
(D)energy (E) tenacity

6. PARADOX

(A) similarity
(B)ambiguity    (C)polarity (D)perpetuity (E) troublesome

7. PARLEY

(A) invitation (B) attack  (C) defense (D)  conversation (E)  niche           

8.VITIATE

(A) corrupt (B)enlighten    (C)strengthen (D)start  (E) observe

9. HILARIOUS

(A)glum  (B)gay  (C)cool  (D)angry (E) temperament

10. EXPOUND

(A) ridicule (B) disagree (C) elucidate (D) confuse (E) irritate

For each of the words in Capital letters, choose from among the answers, the closest word that has the opposite meaning:

(11)   ASPERITY

(A) smoothness   (B)fabrication   (C)duplication  (D)indolence  (E)intercession

(12)   IGNOMINIOUS

(A) melancholy  (B)cantankerous   (C)symmetrical  (D)honourable  (E)calamitous

(13)   EVANESCENT

(A) indulgent   (B)obsequious   (C)permanent  (D)illimitable  (E)serendipitous

(14)   DIFFIDENCE

(A) strong action   (B)violent disagreement   (C)haughty arrogance  (D)grievous error  (E)temporary suspension

(15)   SEDULOUS

(A) tangential   (B)rampant   (C)esoteric  (D)morose  (E)indolent
(16)   OBDURATE

(A) ambiguous   (B)demoralized   (C)vitriolic  (D)malleable  (E)inimitable

(17)   MUTINOUS

(A) routine   (B)clever   (C)obedient  (D)helpful  (E)pitiful

(18)  TEMERITY

(A) fortitude   (B) capacity  (C)interest  (D)caution  (E)relevance

(19)  TRACTABLE

(A) incoherent   (B)advisable   (C)simplistic  (D)influential  (E)uncooperative
(20)  INSOUCIANT

(A) amiable   (B) fretful  (C)swift  (D)inferior  (E)formidable

Read the following text.  The passage contains some blank spaces.  Choose the sentence from the list A – I, that best fits in each of the blank spaces.  The numbers in brackets  refer to Question numbers.

The emancipation of women, “James Joyce told one of his friends, “ has caused the greatest revolution in our time in the most important relationship there is - that between men and women. “ Other modernists agreed: Virginia Wolf claming that in about 1910” human character changed”, and illustrating ___21_____. “ Read the Agamemnon,” and see whether your sympathies are not almost entirely with Clytemnestra. “D. H. Lawrence Cosote, “Perhaps the deepest fight for 2000 years and more, __22_____

But if modernist writers considered women’s revolt _23_____, only recently – in perhaps the past 15 years has literacy criticism begun to catch up with it. Not that the images of __24_____ have gone un-remarked from it. But what we are able to __25____ and now that women- enough to make a difference- ______26_________, the landscapes of literacy history and the features of individual books have begun to change options for answers.

A. has been the fight for women’s independence

B. sexual antagonism that about in modern literature

C. noting instances of hostility between man and women 

D. the new balance between the sexes.

E. are reforming canons and interpreting literature

F. see in literacy works depends on the perspectives we bring to them

G. modernist writers and search for equality

H. against man’s domination one of their “greatest” and  “deepest” themes

I. the interest in feminist issues is not now.

Plato who may have understood better what forms the mind of man than do some of our contemporaries who want their children exposed only to “real” people and everyday events- knew what intellectual experiences make for true humanity. He suggested that the future citizens of this ideal republic begin their literary education with the telling of myths, rather than with mere facts or so-called rational teachings. Even Aristotle, master of pure reason, said: “The friend of wisdom is also a friend of myth.”

Modern thinkers who have studied myths and fairy tales from a philosophical or psychological viewpoint arrive at the same conclusion, regardless of their original persuasion. Marcia Elide, for one, describes these stories as “models for human behavior that, by that very fact, give meaning and value to life”. Drawing one anthropological parallel, he and others suggest that myths and fairy tales were derived from, or give symbolic expressions to, initiation rites or rites of passage- such as metaphoric death of an old, inadequate self in order to be reborn on a higher plane of existence. He feels that this is why these tales meet a strongly felt need and are carriers of such deep meaning.

Other investigators with a depth-psychological orientation emphasize the similarities between the fantastic events in myths and fairy tales and those in adult dreams and daydreams- the fulfillments of wishes,  the winning out over all competitors, and the destruction of enemies- and conclude that one attraction of this literature is its expression of that which is normally prevented from coming to awareness.

There are, of course, very significant differences between fairy tales and dreams. For example, in dreams more often than not the wish fulfillment is disguised, while in fairy tales much of it is openly expressed. To a considerable degree, dreams are the result of inner pressures which have found no relief, of problems which beset a person to which he knows no solution and to which the dream find none. The fairy tale does the opposite: it projects the relief of all pressures and not only offers a way to solve problems but promises that a “happy” solution will be found.

We cannot control what goes on in our dreams. Although our inner censorship influences what we may dream, such control occurs on an unconscious level. The fairy tale, on the other hand, is very much the result of common conscious and unconscious content have been shaped by the conscious mind,  not of one particular person, but the consensus of many in regard to what they view as universal human problems and what they accept as desirable solutions. If all these elements were not present in a fairy tale, it would not be retold by generation after generation. Only if a fairy tale met the conscious and unconscious requirements of many people was it repeatedly retold, and listened to with great interest. No dream of a person could arouse such persistent interest unless it was worked into a myth, as was the story of the pharaoh’s dream as interpreted by Joseph in the Bible.

(27)
 It can be inferred from the passage that the author’s interest in fairy tales centers 

     
chiefly on their

A. literary qualities.

B. Historical background

C. Factual accuracy

D. Psychological relevance

E. Ethical weakness

(28) 
According to the passage, fairy tales differ from dreams in which of the following characteristics?

I. The communal nature of their creation.

II. Their convention of a happy ending.

III. Their enduring general appeal

(A) I only.

(B) II only

(C) I and II only

(D) II and III only

(E) I,II, and III

(29)
 It can be inferred from the passage that Mircea Eliade is most likely

(A) A writer of children’s literature

(B) A student physical anthropology.

(C) A twentieth- century philosopher

(D) An advocate of practical education.

(E) A contemporary of Plato.

(30)
 Which of the following best describes the author’s attitude toward fairy tales?

(A) Reluctant fascination

(B) Wary skepticism

(C) Scornful disapprobation

(D) Indulgent tolerance

(E) Open approval

(31)
 The author quotes Plato and Aristotle primarily in order to

(A) Define the nature of myth.

(B) Contrast their opposing points of view.

(C) Support the point that myths are valuable.

(D) Prove that myths originated in ancient times.

(E) Give an example of depth psychology.

(32)
 The author mentions all of the following as reasons for reading fairy tales EXCEPT

(A) emotional catharsis,

(B) behavioral paradigm

(C) uniqueness of experience

(D) sublimation of aggression

(E) symbolic satisfaction.

PART II

Q1. 
Fill in the missing number in the sequence  

7 
8 
9
10
12
??
16
17

(a) 12   (b) 14   (c) 13   (d) 11  (e) 15

Q2.
In the following series, how many Vs are there such that each V is followed by an D next to it if the D is not followed by a S next to it. 

V    D    V    S    Q    M    V    D    S    M    D    V    D    D    V    Q    M    V    

V    D    Q    V    D    S    D    V    A     M   D    V    D    M

(a) 5
(b) 6
(c) 7
(d)4
(e) 3

Q3.
If  AFOJUI is coded as ZENITH how will DPWFS be coded?

(a) COVER
(b)TRIAL
(c) SHEET
(d)MIND
(e)CIGAR

Q4.
Suppose the first and second letters in the word PSYCHIATRIST were interchanged, also the third and fourth letters, the fifth and sixth etc.  Print the letter that would then be the tenth letter counting from the right.

(a) T 

 (b) P

   (c) Y

   (d) C

   (e) S

Q5.
In which number system would 1342 represent the decimal number 222?

(a)                       (b)                (c) Base - 5               (d)                (e)

Q6.
What is the largest prime number that can be stored in an 7-bit word computer?

(a) 125        (b) 129        (c) 121        (d) 127       (e) 119

Q7.
If n = 10 x 18 x 26, which of the following is NOT an integer?


(a)
n / 65

(b)
n / 78

(c)
n / 45


(d)
n / 66

(e)
n / 20

Q8.
Which of the following is a power of 4?


a.
4148

b.
4096

c.
4198


d.
4244

e.
4048

Pick the odd one out

Q9.
(a)
ORACLE

(b)
WAP

(c)
INGRESS


(d)
DB2


(e)        SYBASE

Q10.
(a)
JAVA


(b)
SMALLTALK
(c)
LISP


(d)
EIFFEL
            (e)
C++

Q11.
The three numbers in brackets represent the angles of a triangle. Which of these does not represent a proper triangle?

(a)
(30º,71º,79º)
(b)
(60º,90º,30º)
(c) 
(33º,67º,40º)  

(d) 
(70º,60º,50º)
(e) 
(80º,60º,40º)

Q12.
The three numbers in brackets in each of the following options represents the  number of edges ,the number of vertices  and the number of faces respectively. Find out which of these represents a solid planar cube?

 (a)  (12,8,6)  (b)  (8,6,12) 
(c)  (8,12,4)    (d)  (8,6,8)   (e)  (12,6,8)

Q13.
Which set of data exhibits a higher Standard Deviation?


(a)
5, 0, -5, 5, 0, -5
(b) 
5, 5, 5, 0, 5, 5   (c)
-5, -5, -5, -5, -5, -5

(d)
5, 5, 5, 5, 5, 5

(e)
5, -5, 5, -5, 5, -5 


The three circles below represent the number of people speaking Punjabi, Hindi and Gujarati. Answer the next three questions based on the diagram
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Q14.
How many more (or less) people speak Punjabi than people who speak Gujarati?


(a)2
(b)3
(c)4
(d) 1
(e)5

Q15.
What percentage of people speaking Hindi can also speak Gujarati but not Punjabi?


(a)15.6
(b)13.6
(c)14.4
(d)16.4
(e) 17.4

Q16.
What percentage of total people can speak all three languages?


(a)5
(b) 6
(c)8
(d)9
(e)12


The figure on the left represents number of members in a Social Group and the figure on the right depicts profession wise distribution for 1998
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Members (in "00s)
Q17.
Which year has registered the maximum percentage growth in members?

(a) 1996
(b) 1998
(c) 1994
(d) 2006
(e) 1992

Q18.
What are the average members for 1995-1999?

(a) 4800
(b) 7600
(c) 8800
(d) 7800
(e) 5600

Q19.
If 10% of members in 1998 left the Social Group, how many fresh members were made in 1999?


(a) 4500
(b) 5400
(c) 4800
(d) 5600
(e) 4900

Q20.
A hypothetical physical quantity is defined as:


 

(Momentum x Velocity) 

  


       (Force x Time)


In what fundamental units would this quantity be expressed?


(a)Time
(b) Power
(c) Distance
(d) Velocity
(e) None 

Q21.
A is twice as good a workmen as B and together they finish a piece of work in 14 days. In how many days can A alone finish the work?


(a)24
(b)21
(c)27
(d)34
(e) 32

Q22.
Which of these matrices is singular

[image: image3.bmp]


14     6

   18        12
             1     0
   
10     12


  A =

      B =

                C =

   D = 



 4      3

    9           6
             1     2

  3       4

(a)A
(b)B
(c)C
(d)D
(e) None

Q23.
Match the following relationships:


(i)
Male – Boy


(1)
Not a type of


(ii)
Bug – Reptile


(2)
Part of


(iii)
Beagle – Dog


(3) 
A type of


(iv)
Piston – Engine

(4)
Superset of


(a) i-3,ii-1,iii-4,iv-2
(b) i-4,ii-1,iii-3,iv-2
(c)i-4,ii-1,iii-2,iv-3


(d) i-3,ii-2,iii-1,iv-4
(e) i-1,ii-4,iii-3,iv-2

Q24.
If  % stands for reciprocal and # stands for doubling what is the value of 

% # % (9)  +  # % # (2)?

(a)4
(b)6
(c) 5
(d)8
(e)9

Q25.
A sequence is defined recursively as



g(0) = 1;
g(1) = -1



g(n) = 2 * g(n-1) – 3 * g(n-2), where * stands for multiplication


What will be the value of g(4)?

(a)-2
(b)3
(c)4
(d)1
(e)2

Q26.
What curve best suits the following data:

	X
	Y

	0.99
	0.00001

	10.04
	1.02

	99.98
	1.997

	1000
	3.0

	9990
	4.004



(a) y = logn x
(b) y = log10 x  (c) y = ex   (d) y = -log10 x  (e) y = - ex
Q27.
A Two-dimensional array X (7,9) is stored linearly row-wise in a computer's memory. Each element requires 8 bytes for storage of the value. If the first byte address of X (1,1) is 1258, what would be the last byte address of X(5, 8)?

(a)1506
(b) 1405
(c)1609
(d) 1508
(e) 1569

Q28.
Of the four straight lines A,B,C,D find out which pair forms an orthogonal set

 
A: 3x+5y-7 = 0, B: x+y = 0 ,  C: 3y-5x+5  = 0, D: y = 7x+3


(a)AC
(b)BC
(c) AD
(d) DC
(e) BD


Q29.
Evaluate the expression 

M(843,9) + R(3.4) + T(7.7) - R(5.8) where

M stands for Modulo arithmetic, R stands for Round-off operation and T stands for Truncation Operation

(a)11
(b)12
(c) 10
(d)21
(e) 24

Q30.
Three independent strategies A,B and C have been initiated for cost cutting in a company producing respectively 40%, 20% and 10% savings. Assuming that they operate independently, what is the net saving achieved?


(a) 45.6%
(b) 34.6%
(c) 56.8%
(d) 54.6%
(e) 60%

Q31.
The hourly declination of moon for a given day is as follows:



Hour


Declination



2


8o 6’ 43.5” 



4


7o 39’ 28.7”


Find the declination of the moon at hour 3.


(a) 7o 53’ 6.1” (b) 7o 56’ 54.5”  (c) 9o 46’ 33.5”  (d) 7o16’ 12.5” (e) 8o 39’ 28.7”

Q32.
What equation best describes the curve shown below:

[image: image4.bmp]
(a)y = tan x
(b) y + 3 = x
(c) y = Cos x
(d) y + x = 0
(e) y = ex

Q33.
The temperature at Mumbai is given by the function: -t2/6+4t+12 where t is the elapsed time since noon. What is the percentage rise (or fall) in temperature between 5.00 PM and 8.00 PM?


(a)24%

(b) 29.4%
(c) -20.9 %
(d) -19.8%
(e) 23.6%

Q34.
An aircraft takes off from A (89o N Lat, 10o E Long) at 2.00 AM local time to B (32o N Lat, 70o W Long). If the flying time is 9 hours what is the local time of landing at B?


(a)6.40 AM
(b) 4.00 AM
(c) 5.40 AM
(d) 7.00AM
(e) 8.00AM

Q35.
Fill in the last row of the following Truth Table:

	A
	0
	0
	0
	0
	1
	1
	1
	1

	B
	0
	0
	1
	1
	0
	0
	1
	1

	C
	0
	1
	0
	1
	0
	1
	0
	1

	(A B ) ( C
	
	
	
	
	
	
	
	


Interpret the resulting bit pattern as an integer in an 8-bit computer and write the decimal value.



(a)3
(b)5
(c)6
(d)4
(e)8

Q36.
A file is transferred from one location to another in 'buckets'. The size of the bucket is 10 kilobytes. The bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.


(a) 10.11 N
(b) 11.011 N
(c) 11.01 N
(d) 10.011 N
(e)10.101 N

Q37.
The storage space required is given by the function P(N) = 4000 √N, where N is the number of boxes used. Find the percentage change in storage if the number of boxes is increased by 1%.

(a) 0.75% 
(b) 0.5%
(c) 0.25%
(d) 1%   (e) 2%

Q38.
A optical cable is to be run from a junction point on the bank of a river 900 meters wide to an office that is located 3000 meters downstream on the opposite bank. If the cost of laying cable under water is Rs. 5 per meter and that of laying overhead on land is Rs. 4 per meter, find the point downstream where the cable is to cut across the river.


(a) 450 
(b) 3900
(c) 1800
(d) 2100
(e) 2700

END OF  PART II

PART III

Read the following passages and answer questions under each passage

(1) Ashland is north of East Liverpool and west of Coshocton

Bowling Green is north of Ashland and west of Fredricktown

Dover is south and east of Ashland

East Liverpool is north of Fredricktown and east of Dover

Fredricktown is north of Dover and west of Ashland

Coshocton is south of Fredricktown and west of Dover.

1. Which of the towns mentioned is furtherest to the northwest?

(A) Ashland

(B) Bowling Green

(C) Coshocton

(D) East Liverpool

(E) Fredricktown

2. Which of the following must be both north and east of Fredricktown

I. Ashland

II. Coshocton

III. East Liverpool

(A) I only 

(B) II only

(C) III only

(D) I and II

(E) I and III

3. Which of the following towns must be situated both south and west of at least one other town?

(A) Ashland only

(B) Ashland and Fredricktown

(C) Dover and Fredricktown

(D) Dover, Coshocton and Fredricktown

(E) Coshocton, Dover and East Liverpool.

4.Which of the following statements, if true, would make the information in the numbered statements more specific?

(A) Coshocton is north of Dover

(B) East Liverpool is north of Denver

(C) Ashland is east of Bowling Green

(D) Coshocton is east of Fredricktown

(E) Bowling Green is north of Fredricktown

(2) Spelunker’s International offers exploring tours in eight caves: Abbott, Benny, Caeser, Dangerfield, Ewell, Fields, Guinness and Hope.

1) Class 1 spelunkers may not attempt cave Ewell, Fields or Hope

2) Class 2 spelunkers may not attempt cave Hope

3) Class3 spelunkers may not attempt any cave

4) Cave Caesar may not be attempted only by spelunkers who have previously explored cave Benny

5) Cave Fields may be attempted only by spelunkers who have previously explored cave Ewell.

6) Only two caves Benny, Caesar, Ewell , Fields and Hope may be attempted by any explorer in a single tour.

1. Which tour is allowed for a class 2 spelunker who has never explored any of the eight caves before, if the caves are attempted in the order listed?

(A) Abbott, Fields, Ewell, Benny

(B) Dangerfield, Guinness, Caesar, Benny

(C) Guiness, Ewell, Dangerfield, Benny, Abbott

(D) Dangerfield, Ewell, Fields, Abbott, Caesar

(E) Guinness, Ewell, Fields, Dangerfield, Benny.

2. A class 2 spelunker who has previously explored cave Ewell may be restricted in choosing a tour by which rule(s)?

I. Rule 4

II. Rule 5

II. Rule 6

(A) I only 

(B) II only

(C) I and III only

(D) II and III only

(E) I, II and III

3. In how many different ways may a class 1 spelunker who has never explored any of the eight caves before set up a tour of 3 caves, if she wishes to explore caves Abbott and Caesar?

(A) 2

(B) 3

(C) 4

(D) 5

(E) 6

4.  What is the maximum number of caves that a class spelunker who has previously explored only cave Benny mat include in a single tour?

(A) 4

(B) 5

(C) 6

(D) 7

(E) 8

(2) Mr. Pesth, foreman for Buda Construction company is hiring 5 persons to do plumbing and wiring on a site. He must have a minimum of 2 electricians. 9 persons are sent by the union hiring hall: Mike, Nick and Olive are electricians, while Rich, Steve, Tom, Ulysses, Vic and Wassily are plumbers.

Pesth is unwilling to hire Ulysses and Vic together, because he knows from past experience that they fight all the time.

Steve and Tom are buddies and will only work together.

Olive won’t work with Rich.

1. If Mike, Nick and Olive are hired, the team of plumbers can consist of 

(A) Steve and Tom only

(B) Steve and Tom or Ulysses and Vic together.

(C) Ulysses and Wassily or Vic and Wassily

(D) Steve and Tom or Ulysses and Wassily or Vic and Wassily

(E) Steve and Tom and either Ulysses, Vic or Wassily

2. Pesth has the greatest number of choices for hiring as plumbers if the electricians he chooses are

(A) Mike, Nick and Olive

(B) Mike  and Nick

(C) Mike and Olive

(D) Nick and Olive

(E) Either Mike or Nick plus Olive

3. If Rich is hired, the other persons hired must be:

(A) Mike, Nick, Steve and Tom

(B) Mike , Nick, Olive and either Ulysses, Vic or Wassily

(C) Mike and Nick, together with either Steve and Tom or Ulysses and Vic or Vic and          Wassily

(D) Mike and Nick, together with either Ulysses and Vic or Vic and Wassily.

(E) Mike and Nick, together with either Steve and Tom, Ulysses and Wassily, or Vic and Wassily.

4. Which of the following statements is true?

I. If only 2 electricians are hired, the plumbers must include Steve and Tom

II. If Olive is not hired, Rich must be hired.

III. If either Mike or Nick is not hired, Steve and Tom must be hired.

(A) I only

(B) II only

(C) III only

(D) I and III only

(E) II and III only
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